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1. (i) Explain the meaning of Labour Economics.
s refeTeT O Bxp &
Paper : MAEC-07 99 ST & AL HI TR FHIC |
Time : 3 Hours | [ Maximum Marks : 80 (i) Differentiate between Immigration and
Note .— The question paper is divided into three Sections Emigration.
A, B and C. Write answers as per the given
instructions. SMYATE IR SHAE & o= TR ARy |
e - ag yvA-= ‘e, ‘9 SR ‘R W mmel § fawifsa © ) What d b e
T TvE & R S S . (111) at do you mean by occupationa
Section-A 8x2=16 structure ?

(Very Short Answer Type Questions)

' AT S TS 9 A9 1 AT ¥ 2
Note .— Answer all questions. As per the nature of the

question delimit your answer in one word, one (iv) Write any four characteristics of formal sector.
sentence or maximum up to 30 words. Each
question carries 2 marks. A=l &7 1 w5 AR R fafe |
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(v) What is monopolistic exploitation ? 2. Explain the nature of Labour market in India.

FHA-THIUFHR A oo fFd Fed § ? qRG H 99 SR Fi YHia Sl AT HIfT |
(vi) Explain the meaning of Minimum Wage. 3. Describe the various determinants of Labour
=JAqH TS & Ad hI T RIS Supply.
(vii) Define Trade Unionism. a1 ‘{ﬁ % fafimr fauites 9@l 1 oo Hifew)
# HEOIS 1 e i 4. Critically evaluate Todero’s model of rural to urban
(viii) What do you understand by Social Security ? migration in developing countries.
AT G § S G €7 forraeiier 29§ T ¥ ved wem # ferw ORY &
Section-B 8x4=32 At &1 SAreAcTs qedish i |

(Short Answer Type Questions) 5. Explain the Fellner’s model of collective bargaining

Note -— Answer any four questions. Each answer should not with the help of diagrams.

AMfeh FHRI & HoR ASd i JEfes wi T

exceed 200 words. Each question carries 8 marks.

"Yug—d
T 9uAE|
(g T q99)
RrivT - frd W YT @ SR ART o e SR W 6. Describe the need for a National Wage Policy in
sferrm 200 v § UREf B T T India.
8 F T ¥ AT H TS ASIGY A hi STEvAehal 1 v Hifag |
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. Describe the conditions necessary of the success of

Collective Bargaining.

gHfek GRENT # G®er & fAu eTEvas I
U HifoTT |

. Describe the nine elements of social security under

the International Labour Organization Act, 1952.

TS gm weA srfufram, 1952 & ded @IS

TEN & Al qcl HT AU HIST |

. Describe the factors responsible for child labour in

India.

U H o7 90 & WS SRSl hRehl 1 dUH hifod |

Section—-C 16x2=32

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 16 marks.
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10. Explain the process of wage determination under

11.

MAEC-07/7 (6)

perfect competition.

o wREfE @ et wwed ek # o @
HHEATRT |

What is the concept of unemployment and
underemployment ? Discuss the causes of
unemployment in India and suggest measures for
its removal ?

IS 2R STE-SRISTIRT T STAEROM 1 & 7 9Rd
H ISF & FROT F1 IO FKINC AR 3% T HA
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12. Describe in detail the functions and problems of
Indian Labour Unions.
IRAE #fw w6 % wE Te wEened @ fawr |
U it |

13. Assess the progress of Employees’ State Insurance

Act, 1948 of social security in India.

IR H A GRET & wHER Teg S sifufa,
1948 @t WA &1 AR HIfST |
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